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(—x4v)

Sl
IRSAET

ERUEels N
15 AT (No. 0)

15T (No. 0+7.5)

25T (No. 0)

25T (No. 1+1.8)

35 AT (No. 0)

35T (No. 0+16. 2)

i

15 & AT

e LD
Vi= 0.72 X 8.10

3No. 0, No. 0+7. 50 (VO IEERSy &rte)

FEYEWT ] &

V2= 0.08 X 22.40

3No. 0, No. 1+1. 8O (/hm IRy &rte)

FRYEWT I L 0
V3= 0.56 X  8.10

3No. 0, No. 0+7. 8O (VO IRy &rte)

FRYEWT I L 0
V4= 0.97 X 6.40
%No. 0+7. 8, No. 0+14. 20D -

FEAEWrE R L Y
Vo= 0.44 X 2.30
#No. 0+16. 2 (/N IEER Sy & de)

e X, RBHXI KV
ve=  (1.49 + 0.50) =~ 2.00

PEAERTE X, X LD
V7= (1.45 + 0.50) =~ 2.00

PEAERTE X, X LD
V8= (1.28 + 0.50) = 2.00

FEAERT X, R LV
Vo= (1.28 + 0.50) = 2.00

FEAERT X, FERAX LV
Vio=  (1.37 + 0.50) = 2.00
FEAEWT X, FERAX LV

Vil= (1.69 + 0.50) = 2.00

EHERTEX & D O A RS Te)
V= 0.26 X  8.10

V2= 0.26 X 22.40

BEERTE X &) AR S Te)
V3= 0.26 X  8.10

EYERTE X &) AR S Te)
V4= 0.26 X 6.40

BEYERTE X &) O A IEERSYE Te)
Vo= 0.82 X 2.30
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0.28

22.

.83

.79

.54

.21

.01

.55

.52

.55

.43

.39

.31

13

11

.82

11

. 66

.89

m3

22.1




+ T = =1 &+ (—R2% 1)

T oFT e X, R &KV
12 (No.0) V6= (1.49 + 0.50) = 2.00 X 0.19 = 0.19
PEAERTE X, X LD
V@A (No.0+7.5) V7= (1.45 + 0.50) <+ 2.00 X 0.19 = 0.19
PEAERTE X, X LD
OREET (No.0) V8=  (1.28 + 0.50) +— 2.00 X 0.19 = 0.17
FEAERTE X, X LD
2EEFT (No.1+1.8) V9=  (1.28 + 0.50) = 2.00 X 0.19 = 0.17
PEAERTE X, X LD
3EFET (No.0) VIO=  (1.37 + 0.50) —+= 2,00 X 0.19 = 0.18
FEAERTE X, X LD
SEEFT (No.0+16.2) V1= (1.69 + 0.50) = 2.00 X 0.8 = 0. 88
Y = 15.37  m3 15. 4
%+ 2 ET T X D
15 & it V= 0.07 X  8.10 = 0.57
3No. 0, No. 0+7. 50 (VO IEERSY &rte)
FEAEWT X L 0
27 f& AT Vo= 0.07 X 22.40 = 1. 57
3No. 0, No. 1+7. 8O (VO IRy &rte)
Y = 2.14 | m3 2.1
PEHIR SRR F ezl Vi = 22.13
yEEizll V2 = 15. 37
Y = 37.50  m3 37.5
+o 95 vV = 15. 40
MARER T
Y = 52.90  m3 52.9
I R Y o B+ = 2. 14
PR L vV = 0. 00
= 2.14 | m3 2.1
AL ( Il + KR ) — ( ®LE + HE ) /0.9
V= 52.90 — 2.14 /0.9 = 50. 52

V2= 50.52 + 320.61 +  44.39 = 415.52 | m3 415.5




= ELy = Yiring
®E F L 3 7 2 (74 1)
H#EE T
A=A JEBAX L0
15 & it Al= (2,10 + 2,05 ) X 1/2 X
7.50 = 15. 56
27 f& AT A2= ( 1.68 + 1.67 ) X 1/2 X
21. 80 = 36. 52
35 f& A A3= ( 1.91 + 1.97 ) X 1/2 X
7. 80 = 15.13
AM= ( 2.48 + 2.55 ) X 1/2 X
8. 40 = 21.13
>y = 88.34 m2 88. 3
HIARS 2 ET T X D
(RC-40) ViI= 0.39 X 7.50 = 2.93
15 & it ¥No. 0, No. 0+7. 5D -2
FEAERT X L D
(RC-40) Vo= 0.27 X 21.80 = 5. 89
27 f& AT ¥No. 0, No. 1+1. 8D -y
FEAERT X L D
(RC-40) V3= 0.35 X 7.80 = 2.73
35 f& A ¥No. 0, No. 0+7. 8D -2
FEAERT X L D
(RC-40) V4=  0.52 X  6.40 = 3.33
35 f& AT ¥No. 0+7. 8, No. 0+14. 20>
FEAERT X L D
Vo= 0.29 X  2.00 = 0. 58
¥No. 0+14. 2, No. 0+16. 20D -2
>y = 15.46  m2 15.5
Kk =
(VP ¢ 50) Al= 15.56 — 7.50 X 0.60 X 1.077 = 10. 71
15 & it SO E R KA & (BRohEFE)  H=0.60m  #1E01.077 (1:0.4)
(VP ¢ 50) A2= 36.52 — 21.80 X 0.68 X 1.077 = 20. 55
27 f& AT SO E R KA & (BRohEFE)  H=0.68m  #1E1.077 (1:0.4)
(VP ¢ 50) A3= 15.13 — 7.80 X 0.60 X 1.077 = 10. 09
35 f& A SO E R KA & (BRohEFE)  H=0.60m  #1E01.077 (1:0.4)
A= 21.13 — 840 X 0.8 X 1.077 = 13.62
SO R KA & (BRshEFfE)  H=0.83m  AHE1.077 (1:0.4)
>y = 54.97  m2
N= 54.97 =  3.00 = 18.3 = 19.00 & 19.0
L= 19.00 X  0.42 = 7.98  m 8.0
WpHBSIEAS A= 0.30 X 0.30 X 19.00 = .71 m2 1.7
(300X 300X 30)




= pLy SAe
% F L 5 (3% 0)
H ot ERAX LD
@R, lom) | A= 2,10 X 0.35 — 0.74
1 f&
A2=  2.05 X  0.35 = 0.72
(IR, -lom) A3= 1.68 X 0.35 — 0.59
25 &P
M= 1.67 X  0.35 = 0. 58
A5=  1.67 X  0.35 = 0. 58
WIERTa, lom) | AB= 191 X 0.35 — 0. 67
3E AT
A7T=  2.48 X 0.35 = 0. 87
A8= 2.55 X  0.35 = 0. 89
A9=  2.47 X  0.35 = 0. 86
= 6.50  m2 6.5
KT ERAX LD
15 & AT = 17.50 _ 7.50
FERXI LD
2 5 {5 AT = 21.80 _ 21. 80
BRI LD
3 fE AT L= 16.20 _ 16. 20
= 45.50  m 45.5
NSNS BB LD
N=  1.00 X  6.00 = 6.00 6.0
BELIL s U — ] R LY
15 & AT = 17.50 = 7. 50
FERAXI LD
QB-fE AT L= 21.80 = 21. 80
BRI X W (No. 0~No. 0+14. 2)
3E-EAT L= 14.20 = 14. 20
= 43.50  m 43.5
BRI XL W (No. 0+16. 2)
3B AT L= 2.00 = 2.00 m 2.0
40 o7 T R LD
(AR Al= (1 0.50  +  1.49 1/2
1 25 AT 1.95 X 1.077 = 2.09
FERXI LD
A2= (- 0.50  + 1.45 1/2
1.9 X 1.077 = 2.00
BRI LD
QB-HE AT A3= ( 0.50  + 1.28 1/2
1.56 X  1.077 = 1. 50




= |25 =
% F T § (32 1)
JEBAK XV
2 - P M= (  0.50 + 1.28 ) X 1/2
1.55 X 1.077 1.49
JEBAK XV
3= AT A= ( 0.50 + 1.37 ) X 1/2
.77 X 1.077 1.78
8.86 @ m2 8.9
ERU/ACIFEN
(Zuewv7Ff) N=  1.00 .00 = 1.0

3 5T




1:0.4

R L2727 VU — I (10m%4 1)
mELIYS U— |
(18-8—25B8)
| 400
4 i) # B HAL % &
2y Y—Fk V= 0.098 X 10.000 = 0.980 m3 0.98
(18-8-25BB)




#HE L= 7 ) — I

(10m4 )
440
L
__
o
400
% PR it H HAL 5
2 Z7Y—Fk V= 0.318 X 10.000 = 3.180  m3 3.18
(18-8-25BB)

1:0.4




x Vi T (10m4 v )

a21)—F
(18-8-25BB)
= v
200 ‘ 330 ‘
4 i it H BN 5
2> 7Y—K V= ( 0.330 X 0.130 <+ 2.000 +
(18-8-25BB) 0.200 X 0.130 ) X 10.000 = 0.475 m3 0.48
pinlp e A= 0.130 X 10.000 = 1.300 @ m2 1. 30
H ikt A= ( 0.330 X 0.130 + 2.000 -+

(BHIEFEYAR, t =10mm) 0.200 X 0.130 ) X 1. 000 = 0.047 | m2 0. 05




7N | 1k T
1 % @ Ar  No.0 ff iF (124 Y)
530 300
[ R D] ﬁ
—2
=
- 2 -
s N
::;):l[_
T18—A—40FE)
4 i it H HAL 5
a7 U—hk V= 1.291 X 0.300 = 0.387  m3 0. 39
(18-8-40BB)
Rl e A= 1.291 X  2.000 +  1.950 X
1.077 X 0.300 = 3.212  m2 3.21

XA1.077 (1:0.4)

K¥EIL A= 0.400 X 0.300 = 0.120 | m2 0.12




/N 0 I T )
1 5 f& AT No.0+7.5 ff i S
300
]
4 T N

%ﬁ w7 )=}

o
(18-8-40BB)

4 i &t " HAL 5
a7 U—hk V= 1.248 X  0.300 = 0.374  m3 0.37
(18-8-40BB)

Rl e A= 1.248 X  2.000 +  1.900 X
1.077 X 0.300 = 3.110  m2 3. 11
XA1.077 (1:0.4)
K¥EIL A= 0.400 X 0.300 = 0.120 | m2 0.12




O
F
-

2 5 & Fr  No.0 f+ it (1364 9)
530 300
200 330
—5 _
g o
? S o
i a4 2
________________________ —;?_
[ap]
N N
% a7 )—F
(18-8-40BB)
4 i it H HAL 5
a7 U—hk V= 1.008 X 0.300 = 0.302  m3 0. 30
(18-8-40BB)
Rl e A= 1.008 X  2.000 +  1.560 X
1.077 X 0.300 = 2.520  m2 2.52

XA1.077 (1:0.4)

K¥EIL A= 0.400 X 0.300 = 0.120 | m2 0.12




N 0 I T )
2 5 & BT No.1+1.8 f iIF S

530 300

00 330

5 .
¥
[
()
= —
(M) [a]
— 2 =
— =]
=
(A
— e i \
0 20— F
(18-8-40BB]
% PR it H HAL 5
a7 U—hk V= 1.008 X  0.300 = 0.302  m3 0. 30
(18-8-40BB)
Rl e A= 1.008 X  2.000 +  1.550 X
1.077 X 0.300 = 2.517  m2 2.52

XA1.077 (1:0.4)

K¥EIL A= 0.400 X 0.300 = 0.120 | m2 0.12




7N | 1k T
3 5 i Bt No.0 f+ & (124 Y)
534
we 130 204
— -
=2
= =
— = =
~ =
=
—s o
500
4 i &t " HAL 5
a7 U—hk V= 1.155 X 0.300 = 0.347  m3 0. 35
(18-8-40BB)
Rl e A= 1.155 X  2.000 +  1.770 X
1.077 X 0.300 = 2.882  m2 2.88
XA1.077 (1:0.4)
K¥EIL A= 0.400 X 0.300 = 0.120 | m2 0.12




1k T
No. 0+16. 2 fF 3T (1&%9)
ann
4 i &t " HAL 5
a7 U—hk V= 1.622 X 0.300 0.487 @ m3 0. 49
(18-8-40BB)
Rl e A= 1.622 X  2.000 +  2.370 X
1.077 X 0.300 4.010 @ m2 4.01
XA1.077 (1:0.4)
K¥EIL A= 0.400 X 0.300 0.120 | m2 0.12




T (+ 9 o0 T) \
7 v vy 7 K UASY)
4 i it H HAL 5
avsU—k7ays V= 2.470 X 0.500 + 2.470 X 1/2 X
(#235cm) ( 1.685 — 0.500 ) = 2.698  m2 2.70
1:0.4
SRR
= 2.698 / ( 1/2 X ( 1.685 + 0.500) ) = 2.470 ' m
ffiA=> 27—k V= 2.698 X  0.180 = 0.486 m3 0. 49
(18-8-25BB) KEEBEAT a7 ¢ 1.8m3/10m2
AR V= 0.281 X 1/2 X ( 1.685 + 0.500 ) = 0.307 | m3 0.31
(RC-40)
VST 8= A= 2.698 — (0.50 + 0.83 ) X 1/2
(VP ¢ 50) X 0.65 X 1.044 = 2.247  m2 2.25
SOV KA ELES (ANERD  AfC15em  AHE1 044 (1:0.3)
N=  2.25 = 3.00 = 0.7 = 1.00 {A
L= 1.00 X  0.40 = 0.40  m 0. 40
W HBSIEAS A= 0.30 X 0.30 X 1. 00 = 0.09 m2 0.09
(300X 300X 30)
H ikt aETED
(iEseatk, t=1om) A= 2.47 X 0.35 0.865  m2 0.87
mwrL=aysy—rT V= ( 0.500 +  0.735 ) X 1/2 X 0.385 =  0.237  m3 0.24
Kig T L= 1.690 1.690  m 1. 69




(10m224 1)

(18-8-25BB)

= BiaadU—F
&
[ Rk
A_aacm
it 5 R
10. 000 = m2 10. 00
(M= 5 2.35cm)
fiiA=> 27 ) — b 10. 000 X 0.35 X 0. 500 = m3 1.75

KERIEEL VMR ABERIA= 2 ) — 1 #ERDL1/2




A =
M e /= L i = (—3% 1)
TS EUE L T
ay 7 Y—h e X, R &LV
HEmEgEL V= (0 1.69 + 0.73 ) X 1/2 0.56  m3 0.6
(A7) 0. 46
MEERR 7 1w 7 FE (P 2.35em)
TEHRALER T
BOEH EEEUE L LY
=y s —r) | V= 0.56 0.56  m3 0.6
ALy AIE LD
=y s —r) V= 0.56 0.56 | m3 0.6




" & T 3

(—=X%v)
IRERIE T
A (A1) P, AEERTE LD
RFEKO  Vi= 30.15 X 4.00 120. 60
RFEK® Vo= 17.79 X 4.00 71. 16
RFEK® V3= 2.36 X 11.60 27. 38
RFEK@® V4= 4.01 X 4.00 16. 04
RFEK®  Ve=  2.36 X 36.20 85. 43
320.61 | m3 320. 6
HbF] (t=10cm)
C-40 P, AEERTE LD
RFEKO  Vi=  3.87 X 4.00 15. 48
RFEK® V2= 3.97 X 4.00 15. 88
RFEK® V3= 0.25 X 11.60 2. 90
RFEK@® V4= 0.27 X 4.00 1.08
RFEK®  Ve=  0.25 X 36.20 9.05
44.39  m3 44. 4
L EHEE T
i EYERT X LD
RFEKO  Al= 39.72 X 4.00 158. 88
A2=  0.50 X 1.414 X 4.00 2.83
RFEK®  Al= 40.70 X 4.00 162. 80
A2= 0.50 X 1.414 X 4.00 2.83
REREKR®  Al= 0.50 X 1.414 X 11.60 8.20
A2= 0.70 X 1.414 X 11.60 11. 48
RRER@ A= 3.70 X 4.00 14. 80
REREKRG®  Al= 0.50 X 1.414 X  36.20 25. 59
A2=  0.70 X 1.414 X  36.20 35. 83
423.24 | m3 423.2




" ® T 3

= (—:40)
MEIIHEAK T
KA 5T. Nl= 2.80 = 1.10 = 2.5 = 3. 00
15 & N2=  4.48 + 1.10 = 4.1 = 5. 00
>y = 8.00 4% 8.0
V= /4 X 1.1002 X 1.08 = 1.20
X 8.00 = 6.84 m3
KA 5T Nl= 2.20 = 1.10 = 2.0 = 2. 00
27 f& AT N2=  3.24 =+ 1.10 = 2.9 = 3. 00
>y = 5.00  1¥ 5.0
V= /4 X 1.1002 X 1.08 = 1.20
X 5.00 = 4,28 m3
KA 5T. Nl= 2.60 + 1.10 = 2.4 = 3. 00
35 f& A N2=  1.69 +— 1.10 = 1.5 = 2.00
>y = 5.00  1¥ 5.0
V= /4 X 1.1002 X 1.08 - 1.20
X 5.00 = 4,28 m3
AKET N= 1.00 = .oo = 1.0
RS B LY
(EERy=roo | L= 9,50 = 9.50 m 9.5
$ 500
15 & it
B LY
$ 600 L= 23.80 = 23.80  m 23.8
27 {1 AT
B LY
é 400 = 18.20 = 18.20  m 18.2
35 f& A
BUERAE BERE W= 18.00 X 0.0025 = 0.045 t 0. 045
(KEI+0 5 5%) AR+ 548 £90. 0025t/
FE7 PR W= 18.00 X 2.5 = 45.00 ke 45
(KEI+0 5 5%) KRB 948 §92. 5ke/#L




